=] i

SPSS

XX
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TABLEL.

5 V5 L 8 )
2 8.
3. / 9.missing
6 V6 0.
_ %.
99.missing
7 V7 L 8.
2. 9.missing
3 0.
4.
() V5.
(2. / ) (3. / )
V7.
CROSSTABSTABLES=Vv7 BY V5.
temporary.
o o select if any(v7,0) and any(v5,2,3).
Andyze - Descriptive Statistics i idvE v
- Crosstabs - (row:v5 Istidvovr.
column:v7)
ID V5 V7
TABLE2.V5 V7 1103 2 0
v7 *V5 Crosstabulation
— . 1 /43 2 ! . 3 / 41 ijs Data. . SeleCt Cm . If
. ' " P condition is satisfied — any(v5,2,3)
. § ) " and any(v7,0) —
. X , (filtered or deleted)
Total 46 51 22 2 121 Data . &)rt Cm R
filter
DATA VIEW
FIGUREL DATAVIEW

36



filter Fle Edi Yuu [ Twcos fulwe Qo (ks fedes By
10815 L[ =lb] W £1c] DFITe |
H 1153
A i_| . rl -2“| :]:h l n*.::b- #:iﬂl %] 'fw 1151
= T h TS | 7| FEA [ E
1M i 5 ST I Sk E
114 L% H TR ] EL E
e 1 | ¥ i S SR TR
T | [ ; Er s C - T |
115 14 2] i A7, Eiwg E-] -2 LR
()] ] [ 45 WRAER | PR Ei swi | ek
T Dats View  iRE VI lai o
TP Fromnc 2 nedy I Al I 2|
V5. (1. ) V7.
(0. )
SPSS
1. any(varname, valuel, vaue2,...)
2. varname = valuel , varname ~= vaue2, ()
varname > value3, varname < value4,
varname >= vaue5, varname <= vaue6 crosstab
3. varname eg valuel , varname ne value2,
varname gt value3, varname It valued,
varname ge value3, varname le value4
crosstab v6 by v5. ( )

temporary.
sdlect if v5=1 and any(v7,1,2,3).
listid v5 v7.

temporary.
sdlect if v5=1 and v7~=0.
ligidv5v7.
"and" "
"or" "

37

temporary.

sdect if v5=1 and v6~=0.

listid v5 v6.

temporary.

sdlect if any(v5,2,3) and v6=0.

listid v5 v6.



ID V5 V6

1147 1 67
ID V5 V6
1114 2 0
()
TABLE 3.
9 V) 1, 8
2. 9.missing
10 V10 1, 5/
2, 6.
3. 8.
4. 9.missing
temporary.
crosstabs tables v10 by vo. select if any(v9,2) and any(v10,1).
listid vO v10.
TABLE4.V9 V10
V10 hd
V9 Crosstabulation I D V9 VlO
— - 1147 2
1183 2 1
V1o 1 - 8 - 11 Tma}lg 1156 2 1
2 16 19 35 1182 2 1
: u ‘ 1 133 2 1
. 1% 2 1
6 . 3 7 1149 2 1
Total ) 6: 61 121 1105 2 1
1191 2 1
Vo. v10 1203 2 1
1218 2 1
()
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TABLES.

2 V2 98.
99.missing
() ) ) ()
6 V6 ? 0.
98.
99.missing
Data - Select Cases — If condition
compute v6_2=v6-v2. issatisfied — v6_2<=15-,
temporary. -
select if v6_2<=15 and v6~=0. (filtered or deleted)
listidv2v6 v6 2. Data - Sort Cases —
filter
ID V2 V6 V6 2 DATA VIEW
1182 68 83 15
1184 69 84 15
1122 75 R0 15
1214 75 0 15
1169 68 80 12
1128 ™4 32 -22

Transform — Compute -
Target Varidbles -

(Vv6_2=v6-v2)
TABLE.6
Al @ )
@ ( )
(9) missing
( )

(@) A21 @

© A22 (WWW) @

(©) A23 ( ) ()

4 A2.4 (9) missing

5 A25

(6) A2.6

U] A2.7

® A28 ( )
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ng o
g o
( "1
oy
®)
()
®-6)
1. 1 2
( ® @O0 )
2.
3. (12 89 (
)
(system missing) SPSS
ny
( 8. 1.-7. )
I "2 ]
TEMP.

SELECT IFA2.1=2 and A2.2=2 and A2.3=2 and
A2.4=2 and A2.5=2 and A2.6=2 and A2.7=2 and
A2.8=2.

LISTIDA21TOA28.

ID A21 A22 A23 A24 A25A2.6 A2.7 A28
495 2 2 2 2 2 2 2 2

"9missng"

40

ny w

"9missing" "
T
D-() ® @-()
"9missng"
I* 12
a2 a2=0*/
COMPUTE A2=0.
IF

(A21=1]A2.2=1]A2.3=1]A2.4=1|A25=1]A2.6=1|
A2.7=1ja2.8=1) A2=1.

IF(A21=8 & A2.2=8& A2.3=8& A24=8&
A25=8& A26=8& A27=8& A2.8=8) A2=8.

IF(A21=9& A22-9& A2.3=9& A24-9&
A25=9 & A2.6=9 & A2.7=9) A2=9.

I 3

8 9
COMPUTE A23=0.
IF(A2.1=8|A2.2=8|A2.3=8| A2.4=8 | A25=8 |
A2.6=8|A2.7=8 | A2.8=8) A2a=88.
IF (A2.1=9|A2.2=9 | A2.3=9| A2.4=9 | A2.5=9 |
A2.6=9|A2.7=9) A2a=99,

A2a=88 99*/

* 12 */
temp.

select if a2=0.

listida2 a2.1to a2.8.

( )

* 3 */
temp.

select if a2=1 and (a2a=88 |a2a=99).
listida2 a2aa2.1toa2.8.

( )

LINE 11D A2A21A22A23A24A25
LINE 20 A26 A27 A28

ID: 379 00 8 2 2 2 2
A2.6: 2 2 2

ID: 495 00 2 2 2 2 2
A2.6: 2 2 2

ID: 85 00 8 8 8 8 8
A2.6: 8 8 9



LINE
LINE

ID: 9998

1 (89)
1. ID A2 A2A A21A22A23A24
2. A25 A2.6 A2.7 A28

100 88.00

A25: 2 1 2

ID: 2829 1.00

99.00

A25: 2 2 1

(

SPSS

line 1, line 2

)

temp.

select if al=1 and a2~=8.

listid al a2 a2.1 to a2.8.
( )

temp.

select if al=2 and a2~=8.

listid al a2 a2.1 to a2.8.
( )

temp.

select if a1=9 and a2~=9.

listid al a2 a2.1 to a2.8.
( )

2
2
"(
"2.
"8.
"1 2

41

LINE
LINE

ID:
A2.5:
1D:
A2.5:

1. 1D A1A2A21A22A23A24
2: A25 A26 A27 A28

2465
8
379
2
495

1 8.00
8 8
1 .00
2 2
1 .00
2 2

8

[T NI )

8

8

1. ID A1 A2 A21 A22 A23 A24

2: A25 A26 A27 A28

2583
2
875

2

1

2

00 8 8 8 8

2 100 1
2 2 2
2

8 8 9

1 ID A1 A2 A21 A22 A23 A24

2: A25 A2.6 A2.7 A28

1229
8
2350
2

9

8
9
1

8.00
8
1.00
2

8 8 8 8

8
2
2

2

(

2

)

2



